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4143 ode: 1004
B.Sc. (Hons.) Bio-Informatics
Third Semester
BIN-3004; Statistical Methods

Time allowed: 3 Hours Max. Marks: 60

NOTE: Attempt five auestions in all, including Question No. I which is compulsory
and selecting two questions from each Unit.

X-X-X
QL Attempt the followi b
: q write down the corresponding chi
b) error and B - error.
or one-way classification.

fy which probability distribution to use in 2

H :p#21, X=201, 0=5 n=12

L p>986, X=65 5=12, n=42

TR ? What do positive, negative, and zerc values
egression equation ofXonVYis2.4andthesame

£y on X is 0.8. Are the regression coefficients
2.2,2,2.3,1)

of correlation?

Rank correlation coefficient R. What
n values.

(3,5.4)

nes in a bivariate series?
ssion. Also prove that
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(2)

h confidence coefficient (1= a) and permissible error

Q4. (a) Find the minimum sample size n for P wit
nce interval for the

E in estimate.
(b) What do you mean by confidence interval? How will you determine the confide s
’?

normal population mean?
UNIT =11
n the concepls of the acceptance

text, explai
tailed ‘estand

Q5. (a) What is meant by hypothesis testing? In this con
region and rejection region (use the appropriate diagram). Differentiate betweena two-

a one-tailed test. |
e the basic assumptions of analysis of

indicate the
(6, 6)

Enum'erat

(b) Explain ‘Analysis of Variance’ (ANOVA) technique.
limentary to each other. Alsc,

~ variance. Justify that F-test and t' test are comp

assumptions of two-way analysis of varian que.
Indicate the formuia and characteri

stics of .

Q6. (a) Explain ¥? is a frequency analys
Explain x2is both a parametric and non-|
(b) The following table gives the numbel
and Z. Test the hypothesis that the pr 0

ared fit and also unfit by three inspectors X, Y,
s declared unfit by the three inspectors are

Total __—{

same.

inspector : nber of uScrev_l_g
X 7 e
Fit Screws 50 o -
Unfit Screws 5 3 —
Total B o = J |
(6, 6)

(Table value of 124 7, = 3-84, %74,
ich are taught a certain industrial

Q7. A company’s traine ;
i he instructing period they are tested

for inspection perfe
Method A
Method B

ree methods are equally
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